Mental Arithmetic 5 Answers

Schofield & Sims

700 000+ +2000+50= 7120%0 1 Ajm,, ,«mwﬂmww? ABCD is 3 : 1 miles = 56km- ) o 35 miles . _:-l- Ryaﬂ SpE‘nt £1.40 which was .g_ of
Y 11007 ; q.uadrl\ateral. ‘ . : his money. How much had he at first? £9.68
i / Find £ ABC. 2 100x =59 ;
- / . 15 12 Afamily of four drink 2.51 milk every day.
5 23 x 100 = B e 215 93“ =~ 3 o= P .. -+ « I What is the average amount in millilitres
N D 98" C s s , - for each person? . BEZEML
G8° + 134° + 11 = 360° SRR 4 C 4 2g+w+1g= A
) ' 3 Meena's salary is £795.63 a month.
5 frp x4 =£15.24 £3.8% .. 2 How many 40¢m lengths can be cut - 5 9kg=7355kg+ kg e aB4Ekg Reund this amount to the nearest
) from a 10m roll of tape? e AT £10 and then find her approximate
;_6:_5 3079 + il thousaﬂdths =4 . 3’5”; thousandths 3 5 004+07+ 0009 = ‘[housaﬂdths FAD thousandths annual Sa‘ary £(§ﬁﬁ§:}
. 3 Using a scale of Imm to 0.5m, what ; B
7 (£1.08 x 10) + (£0.07 x 6} = LN S length of line would represent 3m? smm : 7 £0.09x12= £1.08 4 Mary Brown was born in 1883 and died
78 . N W ' S in 1967. How old was she when she died? __ B4
8 % =3. Find the value of x. B — NP Thecorrect v qgmin - ‘8 5 7% of £13.00 = a o |
: . L timeis . i 5 The circumference of
‘9 3486= 10 x R X 1 12.05 a.m. Z_ A min. o siow b 19% of £8.00= b fY.52 . the dircle measures
) v 31.4cm. s radius
10 tx3= 5 How many minutes fast or slow is 9 557mlx 6= 1 is 5cm. Find the
each of the 24-hour clocks? e 350 %\ perimeter of the
M 160gx5= kg 53k S N 7% ./ semicrde
5 600 shests of paper are used from B
_ . . i B ; o ) _ _ e
12 From 06.12.12 10 18.01.13 inclusive < five packs each holding 480 sheets o 11 £500-{£246+£1.59)= p . 950 & A meal ata restaurant cost £40 0.
=- days 44d How many sheets are left? 1800 >LaUla
[ - = | e _ 3 2 - 2 A customer paid a tip of 8%. ,
"6 : The diagram isa : 12 5%37 T : How much was the Up? £3.20
' / plan of a field.
ci Find the area of 7 Sweets cost 6p for 10. How many
i1 Write 10532 thousandths as a decimal. . 10.532 =3 the field in m?. sweets can be bought for £1.14?  4sp
: "1 30 cookies cost £2.40. g
2 How much less than 10 tonnes is o ———————— Find the cost of one. U - ¢ WX |y W of_the
ot 470kg? 200m o | e0° — angles in each
) _ X 11 x 7 40% ¢ of the triangles
3 55 miles=  km . sgkm 7 P={7.x 17,223} o 2 53.057 How many times smaller is the 71° | 80° | W, XancY W 2L
P = the set of prime numbers between Voo 5 marked y than the Smarked x? __ . 860 51° lé-j'redg‘[l\r:enfh' q % Ao
.4 Find in °C the difference between 6 and 24. Find the value of x, yand z. - N n | € 'rh B
L 6°C and 3°C , _ :3  From the sum of £4.65 and £3.35 ang eli” eac y o
K T © 78 There are 650 of diesel in a tractor tank. subtract £5.50. £2.50 triangle. o B
b ~5°C and 4°C. b . 20 If the fual is used at the rate of 151 per : ‘
. hour, for how many hours and minutes . 4 Find the difference in centimetres 9 The chart shows the distances travelled
5 Divide 117 by 8. Write the answer . can the tractor be used? 4h 2amin between 153mm and 6.6¢m. IR Aol 1 by a motorist in 3 hours. Find his average
a5 a mixed number. - 14 e : speed in kilometres per hour. o 9gkm/h
_— » S and 9 The area of the two given rectangles is ‘ _ -5 Approximate 09:00-10:00 | 10:00-11:00 | 11:00-12:00
“6  Find the tolal of (4 x 16 x 0) an  24cm. Find the length and breadth of 3 - ' : :
o : : a 15cm 7mm to the nearest 0.5cm a 15.50m
(4x16x1). O - two other rectangles X and Y each of - ] T 7 85km 110km 75km
- b ks 59 of . which has an area of 24cm? and whose b 9kg 759 to the nearest 0.5kg. b %kg .
7 How much is 5% of £250? 1220 sides are whole centimetras. X 6em acm is 1: ®
S 6 Find the procuct of 13 and 30. R 50 10 The scale of a map is 1:10000.
‘8 The area of a rectangle is 1m? length | 24cm | 12em Y Bcm . EFem ' What distance in metres is 5 om
E : e . RN
The breadth is 50cm. Find the breadth | icm!| 2cm . ; &2 In how many years will the interest represented on the map by "
length in metres, Zm : on £100 at 6% amount to £127 . 1 & lmm & 3.5cm? . B 250M
%10 plums cost £2.70. Find the cost 10 Aroll of material 2.5m long s cut into _;“: ‘8 Find the difference between {17 x 10) 1 o 0m The shape is
of three. o o Ep three equal pieces. Find to the nearest and {1.7 x 10). D & £y T divided into a
: centimetre the length of one piece. I - - 1« 11 _ , L% i rectangle and
10 Write 12kg of 80kg ; B Write & as a decimal fraction. 4R W”/w a triangle. Find
. o 2 n %ﬂf—’j The cylinder holds 21, T sem | theareaof
& as a fraction in its 5|mp|@5_t form Qe 20 % -1 I — E 10 The area of a carpet is 58.5m?2 + the triangle T
b as a percentage. b 15% . y i The length is 9m. Find the width.  63m 9 s
B LR ! water are there in o L b the whole sh b 62.5cm:
- the cylinder? a 1zo0ml _ the whole shape. B2
@ How many kilometres and metres are | R T S R 200 of lemonade is poured in equal
equal 1o 0.75 of 6km? 4km____B0OmM b How many mare millilitres _ o amounts into 50 bottles. How many 12 /} The volume
L are required to fill it? b .3oomlo millilitres are there in each bottle? e ADGML : / J of the cuboid
2 Find in kilograms the mean mass. R I | : // is 175cm?
12 Find the change from £10 after spending s iR An aircraft travels 180km in 15min. aree i its ler -
e 2.1k ) .o e o Ve el - . Find its length. 7o
[ 9 _075kg 2.25kg 4.9kg 2 Bkg £2 .46, £3.77 and £1.54. £2.23 . amioon -Find its speed in kilometres per hour. 720km/h 25em’y g A
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